ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



T
84.53 mm
[3.328 in]

N

415.30 mm
[16.350 in]

SECTION B-B

421.65 mm

7.94 mm
[0.313in]

[16.600 in]
7.94 mm

"33 A

1.80 mm
[0.071 in]

l

}
@4.50 mm /

[£0.177 in]

373.06 mm

127.00 mm
[5.000 in]

~ — GBR8RE804808038RE—

[14.688 in]

N

L

558.78 mm

B

L

+ [22.00 in]

406.02 mm
[15.985 in]

ASSEMBLY - TOP VIEW

482.61 mm
[19.000 in]

3.18 mm
[0.125in]

552.4

3 mm

[21.749 in]

SECTION A-A

88.13 mm
[3.470in]

A 558.78 mm
[22.00 in]

10.72 mm
__| |—_ [0.422 in]
[=)

76.20 mm
[3.000 in]
R3.18 mm |
[RO.125 in] 466.10 mm
| [18.350 in]

°

S S

°

oo

ASSEMBLY - FRONT VIEW

ASSEMBLY - SIDE VIEW

EXPLODED ISOMETRIC VIEW

Enclosures can be Factory Modified (Milling, Drilling, Printing etc.)
Contact Factory - mim@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.

RM2U1922VBK

Extruded Aluminum Frame - Type 6063

2 Panels - .064" Aluminum (5052-H32) Powder Coat
2 Mounting Brackets - .125" Aluminum

20 Screws - Flat Head 440 x 3/8"

8 Screws - Counter Sunk Head 6-32 x 3/8"

4 Screws - Counter Sunk Head 10-32 x 3/8"

20 Nuts - #4 Speed Nuts

Four Self Adhesive Rubber Feet - 1421T3

ACCESSORIES
PULL HANDLES 1427E1BK
REAR BRACKET KIT| RM2U18BRKT

HAMMOND
MANUFACTURING w

RM2U1922VBK

wwnw . hammondmfg. com




	Contact us

